Announcements August 29

e Midterm 1 on Sep 21

e Quiz 1 Friday in recitation

o WeBWorK 2.1 due Wednesday (tonite!)

e My office hours today 2:15-3:00 and Friday 9-10 in Skiles 234

e | hope you come to office hours
e TA Office Hours
> Arjun Wed 3-4 Skiles 230
Talha Tue/Thu 11-12 Clough 248
Athreya Tue 3-4 Skiles 230
Olivia Thu 3-4 Skiles 230
James Fri 12-1 Skiles 230
Jesse Wed 9:30-10:30 Skiles 230
Vajraang Thu 9:30-10:30 Skiles 230
Hamed Thu 11:15-12, 1:45-2:45, 3-4:15 Clough 280

e Math Lab Monday - Thursday 11:15-5:15 Clough 280
e PLUS Sessions

»> Tue/Thu 6-7 Clough 280
»> Mon/Wed 7-8 Clough 123
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Outline of Section 2.3

e Find the parametric form for the solutions to a system of linear equations.

e Describe the geometric picture of the set of solutions.



2.3 Parametric Form



Free Variables

We know how to understand the solution to a system of linear equations when
every column has a pivot. For instance:

1 015
0 1|2

If the variables are x and y what are the solutions?



Free Variables

How do we solve a system of linear equations if the row reduced matrix has a
column without a pivot? For instance:

1 0 5|0
01 2|1

1 +5x3 =0
xo +2x3 =1

represents two equations:

There is one free variable x3, corresponding to the non-pivot column.
To solve, we move the free variable to the right:

X1 = —5ZE3
X2 =1- 21‘3

x3 = x3 (free; any real number)
This is the parametric solution. We can also write the solution as:
(—5&03, 1-— 2323, wg)

What is one particular solution? What does the set of solutions look like?



Free Variables
Solve the system of linear equations in x1, 2, T3, T4:

T + 5x3 =0

ZE4:0

0]0
110

To solve, we move the free variable to the right:

So the associated matrix is:

VRS
S =
o O
o Ot

xr1 = —bx3

x2 = x2 (free)
xz3= a3 (free)
T4 =0

Or: (—5x3,x2,x3,0). This is a plane in R*.

The original equations are the implicit equations for the solution. The answer
to this question is the parametric solution.



Free variables

Geometry
If we have a consistent system of linear equations, with n variables and & free

variables, then the set of solutions is a k-dimensional plane in R"™.

Why does this make sense?

z

t=20 T (t, w) = (1, —1)
(t,w) = (—1,1) [
\tzl l'/, —
Y

(t, w) = (2,2)




A linear system has 4 variables and 3 equations. What
are the possible solution sets?

. nothing

. point

. two points
line

plane

. 3-dimensional plane

N o 0B W N -

. 4-dimensional plane




Implicit versus parametric equations of planes
Find a parametric description of the plane

r+y+z=1

The original version is the implicit equation for the plane. The answer to this
problem is the parametric description.



Summary

There are three possibilities for the reduced row echelon form of the augmented
matrix of system of linear equations.

1. The last column is a pivot column.
~> the system is inconsistent.

1 01]0
0 1|0
0 0|1
2. Every column except the last column is a pivot column.

~> the system has a unique solution.

1 0 0
0 1 0
0 0 1

* o

3. The last column is not a pivot column, and some other column isn’t either.
~~ the system has infinitely many solutions; free variables correspond to
columns without pivots.




